

A Service of

ZBW

Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre for Economics

Pavia, Luke; Grima, Simon; Romanova, Inna; Spiteri, Jonathan V.

Article

Fine art insurance policies and risk perceptions: The case of Malta

Journal of Risk and Financial Management

Provided in Cooperation with: MDPI – Multidisciplinary Digital Publishing Institute, Basel

Suggested Citation: Pavia, Luke; Grima, Simon; Romanova, Inna; Spiteri, Jonathan V. (2021) : Fine art insurance policies and risk perceptions: The case of Malta, Journal of Risk and Financial Management, ISSN 1911-8074, MDPI, Basel, Vol. 14, Iss. 2, pp. 1-16, https://doi.org/10.3390/jrfm14020066

This Version is available at: https://hdl.handle.net/10419/239482

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.



WWW.ECONSTOR.EU

https://creativecommons.org/licenses/by/4.0/

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.







Article Fine Art Insurance Policies and Risk Perceptions: The Case of Malta

Luke Pavia¹, Simon Grima^{1,*}, Inna Romanova² and Jonathan V. Spiteri¹

- Department of Insurance, Faculty of Economics, Management, and Accountancy, University of Malta, MSD2080 Msida, Malta; luke.pavia.16@um.edu.mt (L.P.); jonathan.v.spiteri@um.edu.mt (J.V.S.)
 Department of Finance and Accounting Faculty of Business Management and Faculty.
- Department of Finance and Accounting, Faculty of Business, Management and Economics,
- University of Latvia, LV-1586 Riga, Latvia; inna.romanova@lu.lv
- Correspondence: simon.grima@um.edu.mt

Abstract: The aim of this paper is to identify the risks that need to be addressed when holding fine art, determine which are perceived as being the most important, and whether the risk perception is influenced by demographic variables such as age, educational background, and field of occupation. To identify the risks and evaluate the risk perception, we used a purposely designed questionnaire and sent it via various sources of communication systems and applications to individuals knowledgeable on fine arts. Findings revealed that, generally, art deterioration, art fraud, and art theft are the three main highlighted risks, with art deterioration considered in the high-risk range. In terms of risk perception, forgery is the biggest concern. On the other hand, considerations of the investment value of art lessened perceived risk exposure. Furthermore, the study has shown that certain risk perceptions were influenced by the participants' demographic variables. Both the identified risks and risk perception considerations analyzed within this study provide us with insights as to what needs to be considered when offering fine art insurance, particularly when it comes to which risks that are perceived as being the most pressing by potential policyholders, and how these perceptions vary according to individual demographics variables as noted above.

Keywords: fine art insurance; insurance policy; risk perception; risks

1. Introduction

The insurance industry has been growing over the past few years, with more and more people seeking to be protected from the unknown, especially in the case of highly valued items (Friedman et al. 2020). Rubin (2000) defines insurance as a "legally binding unilateral agreement between an insured and an insurance company to indemnify the buyer of a contract under specified circumstances. In exchange for premium payment(s), the company covers stipulated perils" (Rubin 2000). Without insurance, people would be exposed to relatively high losses in case any unforeseeable event that might happen.

Over the last two decades, there has been an exponential growth in the international art market (Adam 2014). In fact, art can in certain cases, be considered an 'investment'. In many countries there is a market that specifically caters for the insurance of such an asset, ranging from private collections to those in art galleries and museums (Fischer and Arnold 2010). However, in some other countries, such as Malta, no fine art insurance policies are offered.

Malta is a country with an accumulation of a varied richness of assets in fine arts. Given the country's art richness, particularly in public places with high public accessibility, such as churches and museums, it is unclear why such an area of potentially good revenue for insurance companies and brokers has not yet been exploited. The recent spate of thefts of works of art from private residences and churches (Xuereb 2019; Calleja 2006) highlights the need to research the topic of insuring fine arts against thefts extensively.

To the best of our knowledge, little has been written about the important factors and perceived risks to consider when offering and pricing fine art insurance policies.



Citation: Pavia, Luke, Simon Grima, Inna Romanova, and Jonathan V. Spiteri. 2021. Fine Art Insurance Policies and Risk Perceptions: The Case of Malta. *Journal of Risk and Financial Management* 14: 66. https://doi.org/10.3390/ jrfm14020066

Academic Editor: Svetlana Drobyazko Received: 20 December 2020 Accepted: 31 January 2021 Published: 6 February 2021

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2021 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). Therefore, we aim to identify the risks that need to be addressed when holding fine art, determine which are perceived as being the most important and whether the risk perception is influenced by demographic variables. The study is based on the purposely designed questionnaire sent to individuals knowledgeable on fine arts. Two research questions are posed:

RQ1. What are the risks that need to be addressed when holding art and which risks are perceived as being most prevalent?

RQ2. How do demographic variables affect people's perception of art risks and art insurance?

In this paper, we focus on key demographics such as age, level of education, or field of study on the risk and valuation risk exposure ratings. We have chosen these particular variables since, as noted in Bezzina and Grima (2012) and Bezzina et al. (2014), they are the variables that generally have an effect on perceptions of risk and therefore on the demand which will have an effect on the potential entry of Insurers in this market and the value of the risk. More specifically, we analyze demographics such as age e.g., (Savage 1993), educational background e.g., (Sund et al. 2017), and academic discipline e.g., (Weisenfeld and Ott 2011). Knowing the demographics of a country and relating this to perceived risks of fine arts will enable insurers to determine the potential clientele, the value this clientele gives to the fine art, and in turn the premium to be charged for such a policy. This would help in determining the possible market demand for an insurance policy on fine art and therefore its pricing/perceived value.

Since as noted above, Malta is a country rich in both culture and art, it provides a noteworthy market potential for the fine art insurance and the study findings can be used by the Maltese insurance companies when offering and pricing fine art insurance policies to individuals. Moreover, similar to other studies of islands and small countries carried out by authors such as King (1993), Briguglio (1995), Magri et al. (2019), Xuereb et al. (2019), and Bezzina et al. (2014), Malta can be used as a contained study for insurance companies in larger regions and countries.

Currently, the only policy available in the Maltese market that could potentially and maybe indirectly cover artwork is the property insurance policy; art may be included under the contents section of the policy. However, this is very limited in scope and covers up to a limit, which is too low in value to cover artworks. Internationally, there is the same limitation with the contents section of the policy, however, in the foreign market, there are specific policies catering for fine art losses (MiniCo Insurance Agency LLC 2020).

2. Literature Review

A key feature that characterizes humankind is that of creation of and response to works of art. For the insurance industry, art can mean anything from paintings and sculptures, to instruments, clocks, and antiques (Reed 2017). Fine art usually refers to works that were created for the sole purpose of capturing the creative expression of the artist at the time of making it, as opposed to those pieces that are commissioned by someone for the purpose of craft or decorating. In the past it mainly related to paintings, sculpture, architecture, music, and poetry; mainly for the purpose of artists expressing themselves and creating something that was aesthetically pleasing. In today's art world, fine arts may also include film, photography, and printmaking (Delacare 2016).

2.1. Problems/Risks Faced by Fine Art and Objective of Having Insurance

As other assets, fine art is also exposed to a number of risks. Bialynicka-Birula (2013) categorizes the risks relating to the art into a number of categories, mainly including risks directly relating to the works of art, risks relating to the parties involved in the transaction of art, auctioneer or agent risks, market risks, and distant environment risks such as economic, force majeure, and crime risks (Bialynicka-Birula 2013). The main aspects identified through these risks can be highlighted as being art fraud, thefts, deterioration, and fluctuations in the value of the art, as well as 'legal issues arising from the owned

artworks' and 'changes in the operation of the art market' or 'the interpretation of art value', 'availability of information', and such changes (Thum-Thysen et al. 2017).

One of the main risks related to fine art is art 'fraud/forgery'. Elements of forgery or imitation art have been around for thousands of years, some dating way back to Ancient Rome. The main drive for forgeries, apart from the obvious monetary incentive, is the fact that in most cases, the forger's own original art was not appreciated or recognized, and this would lead them to duping the art world as a way of seeking revenge (Ricci 2019). Another substantial fine art risk is 'art thefts'. A number of famous art pieces have been stolen throughout history, including The Scream (Edvard Munch 1893) and Mona Lisa (Michelangelo Da Vinci, 1503–1506) to mention but a few. In Malta the most famous art theft relates to Caravaggio's St Jerome Writing from St John Co-Cathedral in Valletta. The work was eventually recovered after the negotiations between the thieves and the authorities led to the thieves and the place where the work was being kept (Camilleri 2015).

'Damage and deterioration' are seen as one of the risks faced by the fine art. A narrative told by John Pope-Hennessy recounts the tale of the shocking flooding which damaged a number of art pieces in Florence in 1966, which caused widespread destruction. Thousands of works of art were damaged and needed some extent of restoration. Even to this day, many pieces still require conservation and restoration works, however, luckily, not many artworks were completely damaged beyond repair (Anon 2004; McNearney 2019). One of the later cases of damaged art is to the famous cathedral, Notre-Dame de Paris, France, whereby in April of 2019, the restoration works being completed on the structure caused a fire to break out. The over 800-year-old cathedral survived many potentially detrimental events such as the French Revolution and the Second World War, only to be crumbled by a fire (Fire at Cathédrale Notre-Dame de Paris) (Barrau 2019) caused by the equipment which was meant to improve and better the structure (Ferreira 2019).

'Loss of art' is another problem in the fine art market. When art is lost, this could be due to thefts, damage, or even simply misplacing of the piece. There is also experimental art which uses materials which are not conventional or tried and tested. This type of art would thus only live in the moment, and can never truly be seen again, except in photographs, videos, or mementos from the event (Charney 2018). Such cases are the subject of discussion in relation to whether these may be insured due to the inevitable consequence of the experimental use of material.

Another risk is related to problems and court cases due to the legal issues arising from the ownership of the art risk. Cases such as those of Menzel v. List (1969) and O'Keeffe v. Snyder (1980) both ruled in favor of the plaintiff, even though the abandonment of the pieces due to war risk (for Menzel) and the thefts (for O'Keeffe) had happened over 25 and over 30 years ago, respectively. Both these cases were tried in New York, where the principle is usually to return goods to the original owner, no matter the situation (Danziger and Danziger 2010). Laws such as those in Sweden, however, decree that claims from the original owners or heirs must be made within 5 years of its sale. It would, therefore, benefit plaintiffs to claim under laws like that of New York, while defendants to bring the case forward in law jurisdictions like that of Sweden (Yip 2010).

Changes in the Art Market/Fluctuations in Value of Art are related to another important risk. In the early 2010s, there was a significant percentage increase in auction sales from a decade prior (Adam 2014; Petterson 2014). These transactions only cover those sales made during auctions, and not those made by dealers or online transactions. The auction price may not even be the true value of the piece, merely the subjective value of the individual who bids on it. Even the type of art that people are going for has shifted and transformed. This change comes from a number of factors, including availability of the artworks, change in the collector wants or needs, the idea of prestige that comes from buying art, and the purchasing of art as a means of investment. As newer and wealthier players enter the market, the already dynamic market progresses and adapts, causing further changes in the market (Petterson 2014).

2.2. What Insurances Are Available for Fine Art?

People view insurance in many ways; some people view it as a definite price being paid for a possible large loss to be covered which highlights the transferring of one's risk, while others see it as having one's risk reduced by pooling funds of the many to cater for the claims of the few, and by doing so, sharing the risk (Vaughan and Vaughan 2013). The Insurance Business Act, Chapter 403 of the Laws of Malta, defines an insurance contract to be an agreement where an insurer decides to take on a risk at a premium, and in turn the insurer pays the insured's loss, damage or liability for which an element of uncertainty is present (Insurance Business Act Cap 1998, Chapter 403). Insurance has in fact been in existence for a couple thousand years, a form of it being first prevalent in the spreading of marine risk. However, non-life insurance as we know it today started out in Genoa, an Italian city with several marine-based trading happening at the time and the notion of risk spreading was then adopted by other parts of Europe and ultimately the New World (Lester 2009). Non-life insurance contracts, which insure physical and monetary risks, are typically for a period of up to a year and renewed based on any updated information regarding the risk (Lester 2009). People have turned to art as a form of investment and as a way to protect their assets. 'Art, as a means of investment', works differently to the way stocks do; there are no dividends involved and no true book value. For this reason, investing in art is not for everyone (Karabell 2011). Fine art insurance has been a niche market in the industry for a long time (Gristina 2014).

The British Antique Dealers' Association emphasize the need for security in order to protect the artworks an individual owns. They even make recommendations on the literature from certain security companies that members should use, which include what locks and alarms can be used. Some crime prevention specialist and art insurance professionals may also provide advice in this regard. As a backup to the security that the individual has in place, they may also choose to take out insurance cover, not as a substitute but as further reassurance in case the security measures were to fail. While some contents can be included in a standard property insurance policy, for individuals with a substantial value of artworks, they are likely to be better served by a specific policy which will provide more extensive cover. This type of cover will typically be provided by insurance brokers which will then liaise with the insurer themselves (The British Antique Dealers' Association 2009).

Art insurance can be described as the policy taken out to cover for all risks associated with the artworks under the ownership of the policyholder. This includes accidental damage, theft, and other natural causes; and also has certain exclusions and conditions (Reed 2017). With the ever-growing and evolving art market, the fine arts insurance market has matured and advanced too. A list has been created by certain companies to define what is captured under works of art, which includes: paintings, ceramics, drawings, furniture, photographs, books, manuscripts, sculptures, and many more. Considering the fact that valuing a piece may prove to be very difficult, specialists are assigned this task (Rodríguez 2009).

3. Research Design and Methods

3.1. Building the Questionnaire

To carry out the study we used a mixed-method case study approach on Malta and the Maltese people, adapting a framework suggested by Yin (2002) and Stake (1995). We identified propositions on risks related to fine art, from literature and from preliminary discussions with specialists in the field by applying a thematic analysis as suggested by Braun and Clarke (2006). The choice of the demographic variables wass based on Bezzina and Grima (2012) and Bezzina et al. (2014), Savage (1993), Sund et al. (2017), Weisenfeld and Ott (2011).

We used these as propositions to design our questionnaire, which was structured in three sections. The first section related to the demographics of the participants, specifically age, level of education, field of study/work, experience in the industry, and the interviewees' role in the organization. It is important to clarify the exact nature of the fields of work included in this questionnaire, since this relates to the participants' involvement within the fine arts market and thus the participants' ownership or otherwise of such items. "Working in insurance" means that the participant is an insurance professional with experience or interest in insuring fine art; "Working in art" means that the respondent is actively involved in the arts sector as an artist or curator of fine arts; "Working in a risk management function" means that the respondent has experience in investing in the fine arts market, either on the participants' own behalf or on behalf of other investors; "Other" means that the respondent works in some other field but nonetheless retains an active interest in fine arts, either as a connoisseur or as an owner; finally, "Working in a combination of functions" simply denotes a mixture of two or more of the above fields.

The second section related to the risks prevalent in the art market. Here, the question required the participants to rate specified risks (Art Damage, Deterioration and loss; Art Fraud; Art Theft; Changes in the Interpretation of Art Value; Fluctuations in the Value of Art; Legal Issues arising from the ownership of artwork, Availability of Information and Changes in the operation of the art market) using a Likert scale ranging from '1' being perceived by the participants as very low risk to '5' being perceived as very high risk. The rest of this section consisted of statements relating to the risks in the art world and these were to be rated by the participants on a Likert scale ranging from '1'—strongly disagree—to '5'—strongly agree.

In the third section we included an open-ended comment box to keep an open mind for any further comments, themes, additions, or clarifications by the participants, which might have been missed in our preliminary study.

3.2. The Sample

To gather the participants, we used non-probability purposive and snowball sampling, since we started off with people we knew were knowledgeable about the subject and who believed they could contribute to this study and then with contacts and leads that they suggested (Etikan et al. 2016). In some cases, we administered the survey online using e-communication systems such as 'Zoom', 'MS Teams', and 'Skype', as well as the telephone. For the rest and in the main analysis, we distributed the survey using an online application 'Qualtrics XM', which was administered using social media such as 'Facebook' and 'LinkedIn'. We then asked these prospective participants to help us recruit other subjects among their acquaintances to participate in the study (Ghaljaie et al. 2017; Guest et al. 2006; Mason 2010; Morse 1995; Saunders et al. 2007).

Given the prevalence of fine art in Malta, it is critical to gather an appropriate sample in order to ensure that there is enough statistical power to detect differences in risk perceptions, both in aggregate and across demographics, thereby minimizing the possibility of rejecting false null hypotheses (Type II errors). Assuming a 5% margin of error to ensure that responses broadly reflect those of the population, together with a sampling confidence level of 95%, we determined that a sample size of 384 participants was needed (Creative Research Systems 2020). In total, we collected 465 valid responses from participants who felt they could contribute to this study since they were in one way or another connected to, employed in the area of, or knowledgeable about the subject of this study.

3.3. Data Analysis

The respondents' qualitative data were analyzed using the thematic analysis as suggested by Braun and Clarke (2006), while the respondents' quantitative data were subjected to statistical analysis, specifically the non-parametric ANOVA tests: Friedman (distribution of ranks) to answer RQ1 and Kruskal–Wallis (mean of ranks) to answer RQ2.

The thematic analysis approach was used to analyze the open-ended comments/ responses made by participants and the literature. This was achieved by identifying articles and research that was relevant to the study and, once analyzed, we organized them into themes of data that were cohesive. The thematic analysis allowed us to focus our research and provided a clear path to follow. We used the Friedman Test to determine if there were differences, which are statistically significant between the distributions of three or more related groups when making use of Likert scales. A mean score was generated for each question, which ranged from 1 to 5, in order to determine how respondents rated the risks and statements provided in each section. A mean score close to 1 indicated that the respondent rated the risks and statements as being very low risk, while a mean score close to 5 indicated that the respondent rated the risks and statements as being very low risk.

We use the Kruskal–Wallis test to assess whether there is a significant difference in the fine arts risk perception ranking across a number of demographic variables, including age, occupation, experience, and educational background. We focused on these demographics since, as mentioned earlier, prior studies have shown a clear link between these variables and risk perceptions across a wide variety of domains e.g., (Savage 1993; Sund et al. 2017; Weisenfeld and Ott 2011). The age variable is organized in specific intervals in order to allow for comparisons across age groups while allowing for non-linearities (Andrade 2017), while the education categories are a condensed version of those prescribed by the 2011 International Standard Classification of Education (ISCED) (UNESCO 2012).

4. Analysis and Results

4.1. Participant Demographics

The sample comprised of a total of 465 valid responses from participants whose grouping with regards to age, education level, occupation, experience, and position are shown in the Tables 1–5 below.

		Frequency	Percent	Valid Percent	Cumulative Percent
	18–24 years	118	25.4	25.4	25.4
	25–34 years	98	21.1	21.1	46.5
	35–44 years	85	18.3	18.3	64.7
Valid	45–54 years	91	19.6	19.6	84.3
	55–64 years	58	12.5	12.5	96.8
	65+	15	3.2	3.2	100.0
	Total	465	100.0	100.0	

Table	1.	Age.
-------	----	------

Source: authors' compilation.

Table 2. Highest level of education.

		Frequency	Percent	Valid Percent	Cumulative Percent
	Secondary	24	5.2	5.2	5.2
	Post-Secondary	75	16.1	16.1	21.3
x 7 1· 1	Undergraduate	108	23.2	23.2	44.5
Valid	Postgraduate	234	50.3	50.3	94.8
	Doctorate and Above	24	5.2	5.2	100.0
	Total	465	100.0	100.0	

Source: authors' compilation.

As can be noted from the above Tables 1–5, although the largest number of respondents are between the ages of 18 and 24 (118), the other age groups are also well represented. However, there are less valid responses in the age groups of 55 and above. The majority of these participants hold an undergraduate (108) or postgraduate (234) qualification. Additionally, although the majority of participants (259) do not work in either insurance, art, or risk management but work in areas related to fine arts, they felt that they could contribute to the study since they had knowledge of the subject. Moreover, the largest number of respondents (176) worked in the industry for 5 years or less and 128 respondents worked in the industry for 21 years or more.

		Frequency	Percent	Valid Percent	Cumulative Percent
	Working in Insurance	125	26.9	26.9	26.9
	Working in Art	55	11.8	11.8	38.7
Valid	Working in a Risk Management Function	11	2.4	2.4	41.1
	Other	259	55.7	55.7	96.8
	Working in a Combination of Functions	15	3.2	3.2	100.0
	Total	465	100.0	100.0	

Table 3. Occupation/field of study.

Source: authors' compilation.

Table 4. Experience in the industry.

		Frequency	Percent	Valid Percent	Cumulative Percent
	0–5 years	176	37.8	37.8	37.8
	6–10 years	54	11.6	11.6	49.5
	11–15 years	58	12.5	12.5	61.9
Valid	16–20 years	47	10.1	10.1	72.0
	21 years+	128	27.5	27.5	99.6
	Does not want to say	2	0.4	0.4	100.0
	Total	465	100.0	100.0	

Source: authors' compilation.

Table 5. Role/position in the organization.

		Frequency	Percent	Valid Percent	Cumulative Percent
	Senior Management	143	30.8	30.8	30.8
	Middle Management	145	31.2	31.2	61.9
	Clerical	49	10.5	10.5	72.5
	Freelance Consultant	11	2.4	2.4	74.8
Valid	Student	43	9.2	9.2	84.1
	Artist	12	2.6	2.6	86.7
	Other related functions	49	10.5	10.5	97.2
	Does not Want to Say or Unemployed	13	2.8	2.8	100.0
	Total	465	100.0	100.0	

Source: authors' compilation.

4.2. Risks in the Art Market

Here we sought to establish how participants perceived the risks that are prevalent in the art market (RQ1). The Friedman test on the perceived Art Risks, resulted in a level of significance of less than 0.05 (p < 0.05). Therefore, this illustrates that the same respondents rate the risks differently. Table 6 shows the mean rank for each of the presented risks. These illustrate the participants' perception of riskiness level of each risk. The highest risk listed at the top of the list, and decreasing in risk severity as you move down the list.

Perceived Risk	Mean Rank
Art damage, deterioration, and loss of art	5.60
Art fraud and forgery	5.14
Art theft	5.08
Changes in the interpretation of art value	4.42
Fluctuation in the value of art	4.35
Legal issues arising from the ownership of artworks	4.03
Availability of information	3.92
Changes in the operation of the art market	3.46

Table 6. Risk perception ranking.

Source: authors' compilation.

4.3. Relationship between Demographic Variables and Art Risk

We used the Kruskal–Wallis Test to analyze the risks against the demographic variables (RQ2).

Table 7 shows a statistically significant difference in the perception of risks derived from "Art Fraud and Forgery" and "Legal issues arising from the ownership art works" based on the age of the participant (*p*-values < 0.05). The age bracket between 35 and 44 years ranked this risk the highest (Mean Rank = 260.08 and 253.87, respectively) with the younger age bracket, 18–24 years, ranking the risk of "Art Fraud and Forgery", and the bracket of 45–54 years ranking the risk of "Legal issues arising from the ownership art works" the lowest (Mean Rank = 207.52 and 187.91, respectively). We further analyze the differences across age groups in the pairwise post-hoc analysis presented in Tables 8 and 9, respectively, which seek to determine whether perceptions regarding both art fraud and forgery and legal issues differ according to age groups. As seen below, for art forgery and fraud (Table 8) the key statistically significant difference lies between the 18 to 24 and the 35 to 44 age bracket (adj. sig. 0.04), whereas for legal issues arising from ownership of art works (Table 9) we find statistically significant differences across the 45–54 and 18–24 age brackets (adj. sig. = 0.008) and the 45–54 and 35–44 age brackets (adj. sig. = 0.005).

Table 7. Effects of age on art risk perception test statistics ^{a,b}.

	Art Fraud and Forgery	Art Theft	Art Damage, Deteriora- tion and Loss of Art	Fluctuation in the Value of Art	Legal Issues Arising from the Ownership Art Works	Changes in the Operation of the Art Market	Changes in the Inter- pretation of Art Value	Availability of Informa- tion
K-W	9.541 **	3.962	6.367	2.935	18.810 **	6.973	8.646	6.324
df	4	4	4	4	4	4	4	4
Asymp. Sig.	0.049	0.411	0.173	0.569	0.001	0.137	0.071	0.176

^a. Kruskal–Wallis Test ^b. Grouping variable: age. Source: authors' compilation. ** denotes that the result is statistically significant at the 5% level.

Table 10 shows a statistically significant difference in the perception of risks derived from 'Art Fraud and Forgery', 'Art Damage, Deterioration and Loss of Art', and 'Fluctuation in the value of art' and 'Availability of information', based on the level of education of the participant (*p*-values < 0.05). The participants holding a doctorate level or above ranked the risk of 'Art Fraud and Forgery', 'Art Damage, Deterioration and Loss of Art', and 'Fluctuation in the value of art' the highest (Mean Rank = 289.92, 254.38 and 286.85 respectively), and those holding a postgraduate degree ranked the risk of 'Availability of information' the highest (Mean Rank = 249.32). While the lowest ranking of the risk of Art Fraud and Forgery', 'Art Damage, Deterioration in the value of art', and 'Fluctuation in the value of art' a postgraduate degree ranked the risk of 'Availability of information' the highest (Mean Rank = 249.32). While the lowest ranking of the risk of Art Fraud and Forgery', 'Art Damage, Deterioration and Loss of Art', 'Fluctuation in the value of art', and 'Availability of information' was perceived by those holding a secondary level of education (Mean Rank = 165.67, 163.19, 178.31 and 174.83, respectively).

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
18–24 years-25–34 years	-11.581	17.393	-0.666	0.506	1.000
18–24 years-45–54 years	-16.228	17.755	-0.914	0.361	1.000
18–24 years-65+	-17.735	34.886	-0.508	0.611	1.000
18–24 years-55–64 years	-19.740	20.409	-0.967	0.333	1.000
18–24 years-35–44 years	-54.437	18.106	-3.007	0.003	0.040
25–34 years-45–54 years	-4.647	18.527	-0.251	0.802	1.000
25–34 years-65+	-6.154	35.285	-0.174	0.862	1.000
25–34 years-55–64 years	-8.158	21.084	-0.387	0.699	1.000
25–34 years-35–44 years	-42.856	18.863	-2.272	0.023	0.346
45–54 years-65+	-1.507	35.465	-0.042	0.966	1.000
45–54 years-55–64 years	-3.512	21.383	-0.164	0.870	1.000
45–54 years-35–44 years	38.209	19.197	1.990	0.047	0.698
65+-55-64 years	2.005	36.865	0.054	0.957	1.000
65+-35-44 years	36.702	35.642	1.030	0.303	1.000
55–64 years-35–44 years	34.697	21.675	1.601	0.109	1.000

Table 8. Post hoc analysis—art fraud and forgery.

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.05. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
45–54 years-55–64 years	-14.876	21.242	-0.700	0.484	1.000
45–54 years-25–34 years	37.340	18.405	2.029	0.042	0.637
45–54 years-65+	-45.253	35.230	-1.284	0.199	1.000
45–54 years-18–24 Years	61.072	17.638	3.463	0.001	0.008
45–54 years-35–44 years	68.404	19.070	3.587	0.000	0.005
55–64 years-25–34 years	22.463	20.944	1.073	0.283	1.000
55–64 years-65+	-30.377	36.621	-0.829	0.407	1.000
55–64 years-18–24 years	46.196	20.274	2.279	0.023	0.340
55–64 years-35–44 years	53.528	21.532	2.486	0.013	0.194
25–34 years-65+	-7.914	35.052	-0.226	0.821	1.000
25–34 years-18–24 years	23.733	17.278	1.374	0.170	1.000
25–34 years-35–44 years	-31.065	18.739	-1.658	0.097	1.000
65+-18–24 years	15.819	34.655	0.456	0.648	1.000
65+-35–44 years	23.151	35.406	0.654	0.513	1.000
18–24 years-35–44 years	-7.332	17.986	-0.408	0.684	1.000

Table 9. Post hoc analysis—Legal issues arising from ownership of art works.

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Table 10. Effects of level of education on art risk perception test statistics ^{a,b}.

	Art Fraud and Forgery	Art Theft	Art Damage, Deteriora- tion, and Loss of Art	Fluctuation in the Value of Art	Legal Issues Arising from the Ownership Art Works	Changes in the Operation of the Art Market	Changes in the Inter- pretation of Art Value	Availability of Informa- tion
K-W	19.700 **	8.095	18.228 **	11.365 **	8.060	3.085	2.982	11.537 **
df	4	4	4	4	4	4	4	4
Asymp. Sig.	0.001	0.088	0.001	0.023	0.089	0.544	0.561	0.021

^a Kruskal–Wallis Test. ^b Grouping variable: level of education. Source: authors' compilation ** denotes that the result is statistically significant at the 5% level.

We can further probe these results using the post-hoc analysis presented in Tables 11–14 for each specific risk perception factor. As seen below, for Art fraud and forgery (Table 11) the key differences lie across the secondary and postgraduate educa-

tional groups (adj. sig. = 0.023) and across the secondary-doctorate groups (adj. sig. = 0.007). For Art damage, deterioration, and loss (Table 12), the main differences lie across secondary and postgraduates (adj. sig. = 0.029), secondary and undergraduates (adj. sig. = 0.037), and post-secondary and postgraduates (adj. sig. = 0.026). When it comes to Fluctuation in the value of art (Table 13), the main differences lie across secondary and doctorates (adj. sig. = 0.03) only, while for Availability of information (Table 14) there are no statistically significant differences across our pairs of educational groups.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Secondary-Post Secondary	-40.867	29.847	-1.369	0.171	1.000
Secondary-Undergraduate	-53.519	28.720	-1.863	0.062	0.624
Secondary-Postgraduate	-83.261	27.278	-3.052	0.002	0.023
Secondary-Doctorate and Above	-124.250	36.739	-3.382	0.001	0.007
Post-Secondary-Undergraduate	-12.652	19.129	-0.661	0.508	1.000
Post-Secondary-Postgraduate	-42.394	16.887	-2.510	0.012	0.121
Post-Secondary-Doctorate and Above	-83.383	29.847	-2.794	0.005	0.052
Undergraduate-Postgraduate	-29.742	14.805	-2.009	0.045	0.445
Undergraduate-Doctorate and Above	-70.731	28.720	-2.463	0.014	0.138
Postgraduate-Doctorate and Above	-40.989	27.278	-1.503	0.133	1.000

Table 11. Post hoc analysis—art fraud and forgery.

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Table 12. Post hoc analysis—art damage, deterioration and loss.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Secondary-Post Secondary	-30.206	29.880	-1.011	0.312	1.000
Secondary-Postgraduate	-81.199	27.309	-2.973	0.003	0.029
Secondary-Undergraduate	-83.410	28.752	-2.901	0.004	0.037
Secondary-Doctorate and Above	-91.188	36.780	-2.479	0.013	0.132
Post-Secondary-Postgraduate	-50.993	16.906	-3.016	0.003	0.026
Post-Secondary-Undergraduate	-53.204	19.151	-2.778	0.005	0.055
Post-Secondary-Doctorate and Above	-60.982	29.880	-2.041	0.041	0.413
Postgraduate-Undergraduate	2.210	14.822	0.149	0.881	1.000
Postgraduate-Doctorate and Above	-9.988	27.309	-0.366	0.715	1.000
Undergraduate-Doctorate and Above	-7.778	28.752	-0.271	0.787	1.000

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Table 13. Post hoc analysis—fluctuation in the value of art.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Secondary-Post Secondary	-37.961	29.733	-1.277	0.202	1.000
Secondary-Undergraduate	-48.488	28.610	-1.695	0.090	0.901
Secondary-Postgraduate	-62.995	27.174	-2.318	0.020	0.204
Secondary-Doctorate and Above	-108.542	36.599	-2.966	0.003	0.030
Post-Secondary-Undergraduate	-10.528	19.056	-0.552	0.581	1.000
Post-Secondary-Postgraduate	-25.034	16.823	-1.488	0.137	1.000
Post-Secondary-Doctorate and Above	-70.581	29.733	-2.374	0.018	0.176
Undergraduate-Postgraduate	-14.507	14.749	-0.984	0.325	1.000
Undergraduate-Doctorate and Above	-60.053	28.610	-2.099	0.036	0.358
Postgraduate-Doctorate and Above	-45.546	27.174	-1.676	0.094	0.937

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Secondary-Post Secondary	-35.713	30.027	-1.189	0.234	1.000
Secondary-Undergraduate	-50.083	28.894	-1.733	0.083	0.830
Secondary-Doctorate and Above	-63.771	36.961	-1.725	0.084	0.845
Secondary-Postgraduate	-74.485	27.443	-2.714	0.007	0.066
Post-Secondary-Undergraduate	-14.370	19.245	-0.747	0.455	1.000
Post-Secondary-Doctorate and Above	-28.058	30.027	-0.934	0.350	1.000
Post-Secondary-Postgraduate	-38.772	16.989	-2.282	0.022	0.225
Undergraduate-Doctorate and Above	-13.688	28.894	-0.474	0.636	1.000
Undergraduate-Postgraduate	-24.402	14.895	-1.638	0.101	1.000
Doctorate and Above-Postgraduate	10.714	27.443	0.390	0.696	1.000

Table 14. Post hoc Analysis—Availability of information.

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Table 15 shows a statistically significant difference in the perception of risks derived from 'Fluctuation in the value of art', 'Changes in the interpretation of art value', and 'Availability of information', based on the participant Occupation/Field of Study (*p*-values are 0.036, 0.006, and 0.001, respectively). The participants working in a combination of functions ranked the risk of 'Fluctuation in the value of art' and 'Availability of information' the highest (Mean Rank = 3.400 for both). Participants working in Art ranked the risk of 'Changes in the interpretation of art value' the highest (Mean Rank = 2.9273). On the other hand, those working in a risk management function ranked the risk of 'Fluctuation in the value of art' and 'Availability of information' lowest (Mean Rank = 2.5455 and 2.3636 respectively). While the lowest ranking of the risk of 'Changes in the interpretation of art value' was perceived by those w (Mean Rank = 2.7600).

We also present the post-hoc analysis for each of the three risk perception factors discussed above in Tables 16–18. When it comes to Fluctuation in the value of art (Table 16), the statistically significant differences are observed across working in risk management versus working in art (adj. sig. = 0.045), for Changes in the interpretation of art value (Table 17) the key difference is between those working in risk management and those who work in a combination of functions (adj. sig. = 0.044), and for Availability of information (Table 18) the main differences lie across those working in other sectors and those within the insurance sector (adj. sig. = 0.006).

 Table 15. Effects of occupation/field of study on art risk perception.

	Test Statistics ^{a,b}									
	Art Fraud and Forgery	Art Theft	Art Damage, Deteriora- tion, and Loss of Art	Fluctuation in the Value of Art	Legal Issues Arising from the Ownership art Works	Changes in the Operation of the art Market	Changes in the Inter- pretation of art Value	Availability of Informa- tion		
K-W	0.788	4.898	7.874	10.286 **	1.843	1.920	14.567 **	18.095 **		
df	4	4	4	4	4	4	4	4		
Asymp. Sig.	0.940	0.298	0.096	0.036	0.765	0.750	0.006	0.001		

^a Kruskal–Wallis Test ^b Grouping variable: occupation/field of study. Source: authors' compilation. ** denotes that the result is statisticallysignificant at the 5% level.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Working in a Risk Management Function-Working in Insurance	84.595	39.872	2.122	0.034	0.339
Working in a Risk Management Function-Other	-86.594	39.029	-2.219	0.027	0.265
Working in a Risk Management Function-Working in Art	118.900	41.874	2.839	0.005	0.045
Working in a Risk Management Function-Working in a Combination of Functions	-129.927	50.327	-2.582	0.010	0.098
Working in Insurance-Other	-1.999	13.808	-0.145	0.885	1.000
Working in Insurance-Working in Art	-34.305	20.514	-1.672	0.094	0.945
Working in Insurance-Working in a Combination of Functions	-45.332	34.643	-1.309	0.191	1.000
Other-Working in Art	32.306	18.823	1.716	0.086	0.861
Other-Working in a Combination of Functions	-43.333	33.669	-1.287	0.198	1.000
Working in Art-Working in a Combination of Functions	-11.027	36.930	-0.299	0.765	1.000

Table 16. Post hoc analysis—fluctuation in the value of art.

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Sample 1-Sample 2		Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Working in a Risk Management Function-Working in Art	53.800	42.295	1.272	0.203	1.000
Working in a Risk Management Function-Other	-91.062	39.421	-2.310	0.021	0.209
Working in a Risk Management Function-Working in Insurance	106.081	40.273	2.634	0.008	0.084
Working in a Risk Management Function-Working in a Combination of Functions	-144.839	50.832	-2.849	0.004	0.044
Working in Art-Other	-37.262	19.012	-1.960	0.050	0.500
Working in Art-Working in Insurance	52.281	20.720	2.523	0.012	0.116
Working in Art-Working in a Combination of Functions	91.039	37.301	-2.441	0.015	0.147
Other-Working in Insurance	15.018	13.946	1.077	0.282	1.000
Other-Working in a Combination of Functions	-53.777	34.007	-1.581	0.114	1.000
Working in Insurance-Working in a Combination of Functions	-38.759	34.991	-1.108	0.268	1.000

Table 17. Post hoc analysis—changes in the interpretation of art value.

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

Table 18. Post hoc analysis—availability of information.

Sample 1-Sample 2	Test Statistic	Std. Error	Std. Test Statistic	Sig.	Adj. Sig. ^a
Working in a Risk Management Function-Other	-50.782	39.416	-1.288	0.198	1.000
Working in a Risk Management Function-Working in Art	62.636	42.289	1.481	0.139	1.000
Working in a Risk Management Function-Working in Insurance	98.858	40.267	2.455	0.014	0.141
Working in a Risk Management Function-Working in a Combination of Functions	-125.552	50.825	-2.470	0.014	0.135
Other-Working in Art	11.855	19.009	0.624	0.533	1.000
Other-Working in Insurance	48.077	13.944	3.448	0.001	0.006
Other-Working in a Combination of Functions	-74.770	34.003	-2.199	0.028	0.279
Working in Art-Working in Insurance	36.222	20.717	1.748	0.080	0.804
Working in Art-Working in a Combination of Functions	-62.915	37.295	-1.687	0.092	0.916
Working in Insurance-Working in a Combination of Functions	-26.693	34.986	-0.763	0.445	1.000

Each row tests the null hypothesis that the Sample 1 and Sample 2 distributions are the same. Asymptotic significances (2-sided tests) are displayed. The significance level is 0.050. ^a Significance values have been adjusted by the Bonferroni correction for multiple tests.

On the other hand, Tables 19 and 20, show no statistically significant difference in the perception of risks based on the participants' years of experience in the industry (p-values > 0.05).

	Art fraud and Forgery	Art theft	Art Damage, Deteriora- tion, and Loss of Art	Fluctuation in the Value of Art	Legal Issues Arising from the Ownership Art Works	Changes in the Operation of the Art Market	Changes in the Inter- pretation of Art Value	Availability of Informa- tion
K-W	0.045	1.251	0.032	2.274	2.472	0.817	1.057	3.109
df	1	1	1	1	1	1	1	1
Asymp. Sig.	0.831	0.263	0.859	0.132	0.116	0.366	0.304	0.078

Table 19. Effects of position in the organization on art risk perception. Test statistics ^{a,b}.

^a Kruskal–Wallis Test. ^b Grouping variable: role/position in the organization. Source: authors' compilation.

Table 20. Effects of years	of experience	e in the industr	y on art risk j	perception.	Test statistics a,b
----------------------------	---------------	------------------	-----------------	-------------	---------------------

	Art fraud and Forgery	Art Theft	Art Damage, Deteriora- tion, and Loss of Art	Fluctuation in the Value of Art	Legal Issues Arising from the Ownership Art Works	Changes in the Operation of the Art Market	Changes in the Inter- pretation of Art Value	Availability of Informa- tion
K-W	4.061	2.365	4.473	4.963	8.377	0.524	6.160	4.011
df	4	4	4	4	4	4	4	4
Asymp. Sig.	0.398	0.669	0.346	0.291	0.079	0.971	0.188	0.405

^a Kruskal–Wallis Test. ^b Grouping variable: experience in the industry. Source: authors' compilation.

4.4. Thematic Analysis on Further Comments

Some of the respondents (17) continued to emphasize the importance of the risk during the restoration process. They noted that if this is not done properly or professionally, it could severely damage a work of art or devalue it completely. Respondents (eight) continued to argue that buying a work of art for 'investment purposes' rather than for its aesthetic value distorts the valuation of the works of art. Other participants (17) elaborated on the risk of 'forgeries' by including 'imitations', which they insinuate can distort the valuation of fine art. They note that while forgeries might not be worth much, imitated or copied art which is sold as such can have a high value and can be considered as an art in itself. Sellers must, however, be transparent about the piece and give the buyer all information about it and specify that it is an imitation or copied. Additionally, it might be easier to establish the authenticity of some works as opposed to others, since there are organization specializing in authenticating certain artists and thus making it easier to value.

Some respondents (14) mentioned 'transportation or transit risk', of which a piece could be exposed to. An artwork would be at a higher risk of being damaged in transit rather than hung up in a museum or on exhibition. They also mentioned 'storage and environment' in which the artwork is kept. This could include factors such as whether the piece is in a museum or someone's house, which hold different risk levels, or the way in which it is being taken care of. Other respondents (nine) commented about the 'risk of replacement' and noted that art insurance is similar to life insurance, in that it cannot replace the artwork that was insured, but rather provide the damaged party with a sum to the insured. This is in contrast to other policies, whereby, if, for example, there was damage to a building, the damage can be repaired. Some (22) participants also mentioned the risk of fine art being used as a means for 'laundering money'. This today distorts the valuation process even when specialist valuers are involved.

5. Conclusions

This paper sought to analyze risk perceptions related to the market for fine art, both in terms of severity as well as the extent to which these perceptions vary according to different demographic variables. It was determined that the highest rated perceived risk was that of "Art damage, deterioration, and loss of art", followed closely by "Art fraud and forgery" and "Art theft". In contrast to this, participants perceived "Changes in the operation of the art market" to offer the lowest risk. All risks were rated as medium, when considering the mean response rate, except for "Art damage, deterioration and loss of art", which was categorized as being high risk. (RQ1).

Findings further revealed that certain demographics had an effect on the way some of the risks were ranked, mainly that (1) 'Age' affected the perceived ranking for 'Audit fraud and forgery' and 'Legal issues arising from the ownership art works' risk; (2) 'Level of education' affected the perceived ranking of 'Art fraud and forgery', 'Art damage, deterioration and loss of art', and 'Fluctuation in the value of art' and 'Availability of information' risk; (3) 'Field of study' affects the perceived ranking of 'Fluctuation in the value of art', 'Changes in the interpretation of art value', and 'Availability of information' risk. These findings broadly reflect results in other studies looking at how risk perceptions across different domains vary according to individual demographics. By contrast, 'Position in the organization' and 'Experience in the industry' had no effect on the perceived ranking of the different risks. (RQ2).

In carrying out this process we also revealed some other perceived risks that might have been missed when analyzing literature or which the respondents wished to emphasize further via their qualitative responses. These relate to the following: (1) The restoration process, (2) Investing through art, (3) Forgeries and imitations, (4) Irreplaceability, (5) Transportation or transit risk, and (6) Money laundering.

At this point, it is worth noting a number of important limitations with the above analysis. Firstly, the data were all derived from self-reported questionnaire responses as opposed to induced or observed behavior, and thus must be treated with some degree of caution. Secondly, and perhaps related to the previous point, we found no significant relationship between occupation and years of experience, two of our demographic variables, and any of the risk perceptions, while certain risk perceptions such as art theft and changes in the operation of the art market cannot be explained by any of the demographic variables used. This points towards a need to potentially expand the scope of analysis beyond demographic variables into other socio-economic or behavioral characteristics in order to adequately explain and account for variation in risk perceptions, at least when it comes to future studies related to fine art and insurance.

Nonetheless, these results provide the industry with an insight of risks that need to be addressed by holders of art, as well as considerations for policymakers of fine art insurance policies and provide a basis for which such a product/s can be considered to be introduced in Malta. The perceived risks as seen by the sample taken from the Maltese population, as well as people working in the art and insurance industries, provide us with an idea of what needs to be taken into account when and if offering fine art insurance. In fact, the results indicate that, based on risk perceptions, the individuals who would be most open to fine art insurance given their awareness of risks are in the 35–44 age bracket, typically with a postgraduate (or higher) level of education. Thus, the design and marketing of a fine arts insurance policy should be aimed at this segment of the market, taking into account their specific risk perceptions as well as expenditure propensities and abilities for related premiums. This will in turn assist in providing adequate protection for fine art, based on the highest-ranked risks like art damage, deterioration and losses, coupled with fraud, and create a new revenue stream for insurance companies.

Author Contributions: Conceptualization, methodology, software, L.P. and S.G.; validation, S.G., J.V.S., and I.R.; formal analysis, L.P., J.V.S., and S.G.; investigation, L.P.; resources, L.P.; data curation, S.G. and L.P.; writing—original draft preparation, L.P.; writing—review and editing, S.G., J.V.S., and I.R.; visualization, I.R.; supervision, S.G.; project administration, L.P. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: The study was conducted according to the guidelines of the Declaration of Helsinki, and approved by the faculty Ethics Committee of University of Malta faculty of Economics, Management and Accountancy Ethics Committee. MSD2080, Malta (Form ID 4739_30032020) on the 30 March 2020.

Informed Consent Statement: Not applicable.

Data Availability Statement: The data presented in this study are available on request from the corresponding author. The data are not publicly available due to ethical concerns.

Acknowledgments: The article is based on an unpublished thesis in partial fulfilment of Luke Pavia's in Insurance and Risk Management at the University of Malta, supervised by Simon Grima both authors of this article.

Conflicts of Interest: The authors declare no conflict of interest.

References

Adam, Georgina. 2014. Big Bucks: The Explosion of the Art Market in the 21st Century. New Edition. London: Lund Humphries.

Andrade, Chittaranjan. 2017. Age as a variable: Continuous or categorical? *Indian Journal of Psychiatry* 59: 48. [CrossRef] [PubMed] Anon. 2004. *From the APOLLO Archives: The devastation of Florence*. London: The Spectator (1828) Limited.

- Barrau, Fabien. 2019. Notre-Dame Fire. In *Pictures: Notre-Dame Cathedral Ravaged by Fire*. Issued on. April 16, Available online: https://www.france24.com/en/slideshow/20190416-pictures-notre-dame-cathedral-paris-ravaged-fire (accessed on 4 February 2021).
- Bezzina, Frank H., and Simon Grima. 2012. Exploring factors affecting the proper use of derivatives: An empirical study with active users and controllers of derivatives. *Managerial Finance* 38: 414–35. [CrossRef]
- Bezzina, Frank, Simon Grima, and Josephine Mamo. 2014. Risk Management practices adopted by financial firms in Malta. *Managerial Finance* 40: 587–612. [CrossRef]
- Bialynicka-Birula, Joanna. 2013. Investment in Art—Specificity, Risks, and Rates of Return. Paper presented at 14th International Conference on Finance and Banking (ICFB), Ostrava, Czech Republic, October 16–17.
- Braun, Virginia, and Victoria Clarke. 2006. Using thematic analysis in psychology. *Qualitative Research in Psychology* 3: 77–101. [CrossRef]
- Briguglio, Lino. 1995. Small island developing states and their economic vulnerabilities. World Development 23: 1615–32. [CrossRef]
- Calleja, Claudia. 2006. Four Years Jail for Handling Stolen Caravaggio. Available online: https://timesofmalta.com/articles/view/ four-years-jail-for-handling-stolen-caravaggio.47357 (accessed on 10 September 2020).
- Camilleri, Neil. 2015. How We Recovered Stolen Caravaggio after Setting Trap for Robbers—Ugo Mifsud Bonnici. Available online: https://www.independent.com.mt/articles/2015-03-07/local-news/How-we-recovered-stolen-Caravaggio-after-settingtrap-for-robbers-Ugo-Mifsud-Bonnici-6736131757 (accessed on 10 September 2020).
- Charney, Noah. 2018. The Museum of Lost Art. London: Phaidon Press Limited.
- Creative Research Systems. 2020. Sample Size Calculator. Available online: https://www.surveysystem.com/sscalc.htm (accessed on 5 November 2020).
- Danziger, Charles T., and Thomas C. Danziger. 2010. The Illegal Art Trade. In *Fine Art and High Finance: Expert Advice on the Economics* of *Ownership*. Edited by McAndrew Claire. New York: Bloomberg Press, pp. 287–308.
- Delacare, Evangelyn. 2016. What is Fine Art? Available online: https://canvas.saatchiart.com/art/art-history-101/what-is-fine-art (accessed on 28 July 2020).
- Etikan, Ilker, Sulaiman Abubakar Musa, and Rukayya Sunusi Alkassim. 2016. Comparison of Convenience Sampling and Purposive Sampling. *American Journal of Theoretical and Applied Statistics* 5: 1–4. [CrossRef]
- Ferreira, Tiago Miguel. 2019. Notre Dame Cathedral: Another Case in a Growing List of Heritage Landmarks Destroyed by Fire. *Fire* 2: 20. [CrossRef]
- Fischer, Christiane, and Jill Arnold. 2010. Insurance and the Art Market. In *Fine Art and High Finance: Expert Advice on the Economics of Ownership*. Edited by C. McAndrew. New York: Bloomberg Press, pp. 197–210.
- Friedman, Sam, Michelle Canaan, Nikhil Gokhale, and Prachi Ashani. 2020. 2020 Insurance Industry Outlook. The Wall Street Journal. CIO Journal Deliotte. January 30 3.45pm. Available online: https://deloitte.wsj.com/cio/2020/01/30/2020-insurance-industryoutlook/ (accessed on 9 January 2021).

Gristina, Andrew. 2014. The Art of Fine Art Coverage. Best's Review, December 1.

- Guest, Greg, Arwen Bruce, and Laura Johnson. 2006. How many interviews are enough? An experiment with data saturation and variability. *Field Methods* 18: 59–82. [CrossRef]
- Insurance Business Act Cap. 1998. Chapter 403. Available online: https://www.mfsa.mt/wp-content/uploads/2019/07/Draft_IBA_ Consolidated_Version_Dec-2014.pdf. (accessed on 4 February 2021).
- Karabell, Shellie. 2011. Art Insurance: Where Beauty Meets the Beast. Fountainebleau: INSEAD.
- King, Russell. 1993. The Geographical Fascination of Islands. In *The Development Process in Small Island States*. Edited by Douglas G. Lockhart, Patrick J. Schembri and David W. Smith. London: Routledge, pp. 13–37.
- Lester, Rodney. 2009. Introduction to the Insurance Industry. Washington: The World Bank.
- Magri, Ayrton, Andre Farrugia, Francis Valetta, and Simon Grima. 2019. An Analysis of the Risk Factors Determining Motor Insurance Premium in a Small Island State: The Case of Malta. *International Journal of Finance, Insurance and Risk Management* 4: 63–85.
- Mason, Mark. 2010. Sample Size and Saturation in PhD Studies Using Qualitative Interviews. Forum Qualitative Sozial forschung/Forum: Qualitative Social Research 11. [CrossRef]
- McNearney, Allison. 2019. The Resurrection of Florence's Cimabue Crucifix: After a Devastating Flood in 1966, Cimabue's Crucifix Will Forever Bear the Scars of Its Watery Ordeal Both in Its Wood and in the Areas of Paint That Can Never Be Fully Restored. New York: The Daily Beast.
- MiniCo Insurance Agency LLC. 2020. If You Collect It, We'll Cover It! Available online: https://www.minicocollectiblesdirect.com/ tooleins/ (accessed on 1 August 2020).
- Morse, Janice M. 1995. The significance of saturation. Qualitative Health Research 5: 147-49. [CrossRef]
- Ghaljaie, Fereshteh, Mahin Naderifar, and Hamideh Goli. 2017. Snowball Sampling: A Purposeful Method of Sampling in Qualitative Research. *Strides in Development of Medical Education* 14: 1–6.
- Petterson, Anders. 2014. Value, risk and the contemporary art ecosystem. In *Risk and Uncertainty in the Art World*. Edited by Anna M. Dempster. London: Bloomsbury Publishing Plc, pp. 67–86.
- Reed, Chris. 2017. Do I Need a Fine Art Insurance Policy? Available online: https://alj.artrepreneur.com/fine-art-insurance/ (accessed on 25 April 2020).
- Ricci, Benedetta. 2019. The Art of Forgery—Art Forgers Who Duped the World. Available online: https://magazine.artland.com/theart-of-forgery-art-forgers-duped-world/ (accessed on 15 July 2020).
- Rodríguez, A. Ventosa. 2009. Fine Arts Insurance. Madrid: MAPFRE.
- Rubin, Harvey W. 2000. Dictionary of Insurance Terms, 4th ed. Hauppauge: Barron's Educational Series, Inc.
- Saunders, Mark, Philip Lewis, and Adrian Thornhill. 2007. Deciding on a Suitable Sample Size. Essex: Pearson Education.
- Savage, Ian. 1993. Demographic influences on risk perceptions. Risk Analysis 13: 413–20. [CrossRef] [PubMed]
- Stake, Robert E. 1995. The Art of Case Study Research. Thousand Oaks: SAGE Publications.
- Sund, Björn, Mikael Svensson, and Henrik Andersson. 2017. Demographic determinants of incident experience and risk perception: Do high-risk groups accurately perceive themselves as high-risk? *Journal of risk research* 20: 99–117. [CrossRef]
- The British Antique Dealers' Association. 2009. The Care of Antiques & Works of Art. London: Craft Publishing.
- Thum-Thysen, Anna, Voigt Peter, Maier Christoph, Bilbao-Osorio Benat, and Christoph Ognyanova. 2017. Unlocking investment in intangible assets in Europe, Quarterly Report on the Euro Area (QREA), Directorate General Economic and Financial Affairs (DG ECFIN). *European Commission* 16: 23–35.
- UNESCO. 2012. *Revision of the International Standard Classification of Education (ISCED)*. Montreal: United Nations Statistical Division, UN Classifications Registry.
- Vaughan, Emmett J., and Therese M. Vaughan. 2013. Fundamentals of Risk and Insurance, 11th ed. Hoboken: Wiley.
- Weisenfeld, Ursula, and Ingrid Ott. 2011. Academic discipline and risk perception of technologies: An empirical study. *Research Policy* 40: 487–99. [CrossRef]
- Xuereb, Matthew. 2019. Valletta priest to be charged over theft of sacred art worth €100,000. Available online: https://timesofmalta. com/articles/view/valletta-priest-to-be-charged-over-theft-of-sacred-art-worth-100000.736325 (accessed on 10 September 2020).
- Xuereb, Kieran, Grima Simon, Bezzina Frank, Farrugia Andre, and Marano Pierpaolo. 2019. The Impact of the General Data Protection Regulation on the Financial Services' Industry of Small European States. International Journal of Economics and Business Administration 7: 243–66. [CrossRef]
- Yin, Robert K. 2002. Case Study Research: Design and Methods. Thousand Oaks: SAGE.
- Yip, Arabella. 2010. Stolen Art: Who Owns it Often Depends on Whose Law Applies. Spencer's Art Law Journal 1.